gl Ab b (_@_4 SRS pa SRR e AT

| L= - - T ___4_ —4_ ) :vy',
9 xmeod e oozt o oo (ke

ﬁ) M X =6 = %:{‘ = '.j__.-:é = c=4¢F
| 1] L || | NON Acecemmngile,

‘ L. ..é—-_.‘ HEEE N — |
et i R e P
h L, et " % -4\ c

) Xd_-sz:(Xi—i—X,_) 2-X4_>(2_‘— ——3—')"2 == EN
YT S = 5. 46—=€ec _ 4o -
AUVINDI 5 2. 3_-?‘% ] 5 = [e Acc
A At etk Pty 2k
TOIZ| Xt tix 2 XX PR
cARNE £ "2 o Parxy
| 2 _ ‘
o B 25 4 46 2, 43 e
T [ feh2 So 3] 3 So 2|
o e T T
b b e (G an
z HEEYS Zirg
/O (xi+xz>:—%€[—% -.g’:):_ = \/EnA ¥c\5/
QN IND I Cé% T e o e e e o e
] || | =l [ [T 1T 1]
/W") —-4——--(-——4'——"‘ XL_+X:¢=————————3 =.,éli3_.i=.—%
RN SInE 4 S T e




m PABTIB BTN
| LA/éMMA,(Xi+X,_)gEvé.Eﬂaas,>o;_ M-

1L fropsare (>’<4-x1) N RNER2RENFPY

9 me

g Xzéo

- La Somma (xy +x,) seve Exers <o
ERRE/AY /T2 EE NG A SRR ERRRT ARED-IT




B2 mEE ZETT E A RmEE
=] [ Ace.
T L e
A) 4 e N 2+ XY | (.4_.—’_)(1)— 2 X4 X, (X,L'f‘xz)
RN Xt T ST
13 B | 1 72 (X:L XL)
= [F T2 3—(?27___;2_15_” Bl AN AN P S Nkl
[5)3 | 342 7 9264 @ Z |20 i
=Sy u | T4 NENEEERAEEEE

= 3156 -—4234fc —4—2_1 9;2_»0 ENEEEREEEEEEEE .

= 79l -sesret Sdprse.

I 55 L BpF L SR
r3INES > yARER.CH HEPZNNN NN
7‘)6 —5f3c+?—a’4—o_ N |
D =35 0{,( 3 EuSe S| "-Zj = 7?‘5- zd.:LfJ‘.. N | |
Cswrw v ader |||, PR “”4?"’_’.~ 503
/Z—,— ,,,,,,,,,,,,, =7 | | rf /.
/ <179 \ ,,,,,,,,,,,,,,,
EX = N‘Fr iNE
_____ L 45 | 1 ‘/5:}

%} xi,+xz~——2~><j_i-‘xl i=§,i::—)?~,=—z < s fe=c2
e \——\/—/ vvvv EEEEENEEEEEEEARE
L EENFEE il

B ERNNEN



..................



